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In the table below, indicate the correct statement(s) for each of the 12 groups of statements that follow. For each correct group, you get 20/12. You lose 1/5 of that if in a group you indicate one wrong statement as correct; and ¾ of that if in a group you indicate two wrong statements as correct. 
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1.a) In a country with fixed exchange rates, there is no relationship between the internal level of prices and the balance in the current account.

b) In a country with fixed exchange rates, a surplus in the current account may lead to an increase in the monetary base.

c) The monetary base is the same as the money stock.

d) The Ricardian model analyses the causes but not the consequences of trade.

2.a) In the Ricardian model, in the long run the relative price of two goods is equal to its relative cost in autarky but not necessarily under free trade. 

b) The consideration of transport costs in the ricardian model may transform an otherwise exported good into an imported good.

c) In the Ricardian model, trade leads to global gains if a country specializes in the good in which it has a smaller disadvantage and ceases to produce the other good.
d) In the following matrix indicating the number of days necessary to produce one unit of each of the two goods, the relative price in autarky in Germany is 1 cloth = 1.5 steel



Steel
Cloth
UK

 4
    8
Germany
 6             7
3.a) In the HO model, industry x is intensive in labour compared with industry y if the unit labour cost is lower in x than in y.

b) In the Ricardian model, trade will not lead to global gains if each of the two countries specializes in the good in which it has a lower opportunity cost.
c) In the Ricardian model, a country may have both an absolute and a comparative advantage in one good.
d) The fact that both countries gain from trade is not in itself sufficient to show that trade will take place in the Ricardian model.

4.a) Both in the HO and in the Ricardian model, trade only takes place if individual producers profit from it.

b) The international relative price in the Ricardian model does not depend on the preferences of the world consumers for the two goods.

c) In the specific factor model, in the short run trade increases the real income of the factors specific both to the export and the import industries.

d) In the HO model, in the long-run trade raises the real income of the factor in which the export industry is intensive and reduces the real income of the factor in which the import industry is intensive.

5.a) A less developed country without natural resources which decides to engage in free trade with the rest of the world will not be able to compete because it is much less productive in all sectors of production than most other countries.

b) Imports must be paid with exports in the short term, but not in the long term.
c) In the Ricardian model, a country specializes in the goods for which its productivity relative to the other country exceeds the relation between its wage and that of the other country.

d)  In the Ricardian model, under floating rates the exchange rate adjusts until the country has lower unit costs in a sufficient number of goods to ensure that the value of its exports just cover the value of its imports.
6. a) In fixed rates without monetary sterilization, a trade imbalance increases both the monetary base and the interest rates in the surplus country.

b) In fixed rates without monetary sterilization, if trade imbalances impact on nominal wages rather than on output levels, then equilibrium in the trade balance is eventually restored at full employment.

c) In fixed rates with monetary sterilization, trade imbalances do not affect interest rates in either of the two countries.

d) In fixed rates without monetary sterilization, if trade imbalances impact on output levels rather than on nominal wages, then the relative competitiveness of the two countries remains unchanged and there is no mechanism to correct the trade imbalances.

7. a) In the HO model, the price of capital is the rate of return a company must pay per period to obtain the financing to buy its capital stock.
b) An increase in the price of labour relative to the price of capital does not necessarily lead to an increase in the price of the labour intensive good relative to the price of the capital intensive good.
c) Two countries may have the same quantity of labour and still one of them may specialize in the labour intensive-good.
d) In the HO model, the price of capital is the purchase price of one unit of capital.
8. a) In the HO model, a labour abundant country can increase the production of the labour-intensive good only because it is assumed that in the long run firms can switch to more capital intensive techniques.

b) In the HO model, specialization leads to a reduction in the demand for the abundant factor.

c) In the HO model, the process of specialization will continue as long as the cost of the labour intensive good in the labour abundant country is lower than in the other country.

d) According to the HO model, if the various factors of production were proportionally distributed across all countries, there would be no gains from trade.
9.a)  In Krugman’s model, trade leads to gains only because it leads to lower prices.

b) In Krugman’s model, trade leads firms to cut their prices because it makes their consumers more price-sensitive.

c) External economies of scale tend to make the process of specialization more vigorous

d) Internal - but not external - economies of scale is one of the reasons why trade leads to gains. 

10. a)  According to the HO theorem, a country specializes in the good intensive in the factor that is cheaper in that country that in the other country 
b) According to the HO theorem, a country physically abundant in capital may in some cases specialize in the labour intensive good.
c) The Rybczynski theorem bears no relation with the HO theorem.
d) According to the Rybczynski theorem, strong immigration makes the production of the capital intensive good increase, but by less than the production of the labour intensive good.

11. a) The fact that the US exports are less intensive in capital than US imports is necessarily inconsistent with the HO theorem.

b) Because capital mobility is free, physical abundance of capital does not translate into economic abundance of capital.
c) According to the HO theorem, everything else constant countries with high saving rates tend to specialize in capital intensive goods.

d) According to the HO theorem, everything else constant countries with frequent revolutions and wars tend to specialize in labour intensive goods. 

12. a) The fragmentation of the different stages of production and their assignment to different countries by multinational companies may be a cause of intra-industry trade.
b) Firms may sell their products at lower prices abroad than at home because they face a larger demand at home than abroad.

c) Dumping is harmful to consumers.

d) According to the HO model, trade involves an implicit exchange of factors of production.

